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[ A8 =4FGI0IEF EF Y ]
structure Stack
objects: 0Jf O|&te] |}AE JINl K&t =A 2|AE
functions:
S = stacke Stack, itemmeelement, max_stack_size Epositive integer
Stack CreateS(max_stack_size) ::=
ZICH FI19F max_stack_size?l =84 AEH
Boolean |sFull(stack, max_stack_size) ::=
if (stackll & A= == max_stack_size) return TRUE
else return FALSE
Stack Add(stack, item) ::=
if (IsFull(stack)) stack_full
else stackl S0l item= & &3k return
Boolean |IsEmpty(stack) ::=
if (stack == CreateS(max_stack_size)) return TRUE
else return FALSE
Element Delete(stack) ::=
if (IsEmpty(stack)) stack_empty
else A8 59| item= Ml HOH Al BHEH

AH A
oo

0



ABR =AFHIOH EFRYS 2
— 2X2 Y stack[MAX_STACK_SIZE] A2
— B A= stack[i-1]0 HZ

— topE AEHO| FAR KAE D2 (=D]: top = —-1)

Stack CreateS(max_stack_size) ::=
#define MAX_STACK_SIZE 100 /*=|CH A EEF D]/
typedef struct {

int key;

[* CHE EE «/

} element;
element stack[ MAX_STACK_SIZE];
int top = -1,

Boolean |sEmpty(Stack) ::= top < 0;
Boolean IsFull(Stack) ::= top >= MAX_STACK_SIZE-1;
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void add(int *top, element item)

{
/* 8 A stackOll items= & & */
if (*top >= MAX_STACK_SIZE-1) {
stack_full(); // Z3HAEY & T M2l
return;

}

stack[++*top] = item;

}

element delete(int *top)

{
/* stackll XA |AE BHEF %/
if (*top == —-1)
return stack_empty(); /* @2 key=Z Ht& «
return stack[(*top)——1;

}

/

ol
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structure Queue
objects: 0Jf O|&te] |}AE JINl K&t =A 2|AE
functions:

£ = gqueue=Queue, itemeelement,
max_queue_size Epositive integer

Queue CreateQ(max_queue_size) ::=
ZCH A J1JF max_queue_sizef! 28 RE MM

Boolean IsFullQ(queue, max_queue_size ) ::=
if (queuell &A% == max_qgueue_size) return TRUE
else return FALSE

Queue AddQ(queue, item) ::=
if (IsFull(queue)) queue_ fuII
else queuell S0 item= & ot 0l queueE EHE

Boolean IsEmptyQ(queue) ::=
if (queue == CreateQ(max_qgueue_size)) return TRUE
else return FALSE

Element DeleteQ(queue) ::=
if (IsEmpty(queue)) return
else queuel| 240 U= item= Ml Hol A Bret

=

-



20| PE: 1A WS 018

A= fronte RUA H 22 AXLL ottt &= FX
A= rear= FAO0IA OHAISY & A2 2K

Queue CreateQ(max_queue_size) ::=
#define MAX_QUEUE_SIZE 100 /» 72| = A J]| */
typedef struct {
int key,
/* E =2 .u.l c */
} element;

element queue[ MAX_QUEUE_SIZE];
int rear = —1;

int front = —1;
Boolean IsEmptyQ(queue) = front == rear
Boolean |sFullQ(queue) = rear == MAX_QUEUE_SIZE-1



void addq(int *rear, element item)

{
/* queuelf item= & %/
if (xrear == MAX_QUEUE_SIZE-1) {
queue_full();
return;

}

gueue[++=*rear] = item;

}

element deleteq(int *front, int rear)

{
/* queuel AUAM RAZS ARl */
if (xfront == rear)

return queue_empty(); /* 0lle] keyS

return queue[++=*front];

}

=]

—

Fx

o



HO =x1& Hao =HE O
WM 3.2 [&HE AHEE]
- 29 HIH 2 & FA(job queue)
- HASO| R0 SOt USH et A= BX 2EZ0
z 0l=s

H

—>Z = rear g0 MaxSize—11dt &0t AN AIF E3HAERDF E

fro |rear |[Q(1) [1] [2] [3] [4] comments
nt [5] [6] ...
1 -1 queue empty initial
1 0 |J1 job 1 joins Q
1 1 |J1l J2 job 2 joins Q
1 2 (J1l J2 J3 job 3 joins Q
0 2 J2 J3 job 1 leaves Q
0 3 J2 J3 Ja job 4 joins Q
1 3 J3 J4 job 2 joins Q
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« HiE queue[MaxSizel S %%92 ===
—rear == MaxSize—10|™

o &l @
N\ \

o
o
o
U
T
Ox
10
o
o

e MaxSizeE FUHIAZ AIZ20IH R|E A= E 52

9 25 front == rearJt S
- 0|2 #=0obJ| ?lol Eetdti= &A= JF MaxSize-1
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— front ==rear = Y AME 2Bt AI=
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void addqg(int *front, int *rear, element item)
{
/* queuell item= & */
xrear = (xrear+1) % MAX_QUEUE_SIZE;
if (front == *rear)
queue_full(rear); /* rearE 2INIEAIII LD OIS ZSE »/
return;

}

gueue[*rear] = item;

void deleteq(int *front, int rear)
{
element item;
/*x queuel| front AAE A HGIH A2 itemlll =8 */
if (xfront == rear)
return queue_empty(); /* queue_empty= 0icf I E BHEt x/
xfront = (*front+1) % MAX_QUEUE_SIZE;
return queue[*front];
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100011011100111
011000011110011
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011110011111111
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OISE 4 U= YESS FHY
typedef struct {
short int vert;
short int horiz;
} offsets;

offsets move[8]; /* (IS & 0|0l CHEr BHE «/

Name Dir move[dir].vert move[dir].horiz
N 0 -1 0
NE 1 -1 1
E 2 0 1
SE 3 1 1
S 4 1 0
SW 5 1 -1
w 6 0 -1
NW 7 -1 -1

CtE 0l=s AKXl mazel/next_row/][next_col/
— next_row = row + move/dir].vert;
— next_col = col + movel[dir].horiz,



- 32 FAIFE A ALE
#define MAX_STACK_SIZE 100 /= ABQ X A */
typedef struct {

short int row;

short int col;

short int dir;

} element;
element stack| MAX_STACK_SIZE];

- MAX_STACK_SIZE = A2 80ll M&E= zU & = 0l=2] 2 ?X

= J| 2100 etH B &= B Z mp



initialize a stack to the maze's entrance coordinates and direction to north;
while (stack is not empty) {
[* AEHOI S0 U= /X2 0l =+*/
<rol, col, dir> = delete from top of stack;
while (there are more moves from current position)
<next_row, next_col> = coordinate of next move,
dir = direction of move;
if ((next_row == EXIT_ROW) && (next_col == EXIT_COL)) success ;
if(maze[next_row] [next_col]==0)&&mark[next_row] [next_col]==0) {
/* JtsS0otKI B OF& OlsoHE X £ 2 0l 2HEF «/
mark[next_row] [next_col] = 1;
[* AT RIX 2t &= HE */
add <row, col, dir> to the top of the stack;
row = next_rows;
col = next_col;
dir = north;
}
}

¥
printf("No path found");



void path(void) /2278 3.8 0|2 A gt
[/ D22 SVl B2} YO 1 H2E SBELL, +/

int i, row, col, next_row, next_col, dir, found=FALSE;

element position;
mark[1]1[1]=1; top=0; stack[0].row=1; stack[0].col=1; stack[0].dir=1;
while (top>-1 && !found) {
position = delete(&top):
row = position.row; col = position.col;
dir = position.dir;
while (dir<8 && !found) {
next_row = row + moveldir].vert; /x dir ¥& 22 0| S */
next_col = col + move[dir].horiz;
if (next_row==EXIT_ROW && next_col==EXIT_COL) found = TRUE;
else if (!maze[next_row][next_col] && !mark[next_row][next_col]) {
mark[next_row] [next_col]) = 1;
position.row = row; position.col = col; position.dir = ++dir;
add(&top, position);
row = next.row; col = next.col; dir = 0;

}

else ++dir;

}



if (found) {
printf("The path is:");
printf("row col");
for (i=0; i<=top; i++)
printf("%2d%5d", stackl[i].row, stackl[i].col");
printf("%2d%5d", row, col);
printf("%2d%5d", EXIT_ROW, EXIT_COL);
}

else printf("The maze does not have a path");

}

e path €12|&2 &4
- while22 A2 AJ|H &S5&F011D = mp
— while 22| while2 I 84 = O(1)
- [M2kA O(mp)



= Alo|
E= SEHE=F S
0 [1-> 17 LR
—— ++ 16 L R
& *x unary — 15 R L
* [ % 13 L R
+ — 12 L R
> >=< <= 10 L R
== |= 9 L R
&& 5 L R
[ 4 L R



0.
I

O

<[

-

axb/c
abx*xc/

| (infix notation)

| (postfix notation)

| 2

;o
=T

)x=a/b-c+d*e—-ax*c

x=((((a/b)-c)+(dxe)) - (axrc)

X=ab/c—-dexacx*—+

10F

o0

=110

(@]

040

10
al

- ARA RQEZO2 AN

i
53
ok
<K
g

OF
o)

</
o)



* DO B~ | W TN O

_|_

A El Top
[0] [1] [2]
6 0
6 2 1
6/2 0
6/2 3 1
6/2-3 0
6/2-3 4 1
6/2-3 4 2 2
6/2-3 4%2 1
6/2—3+4%2 0
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#define MAX_STACK_SIZE 100 /* AEHO| X[} DI */

#define MAX_EXPR_SIZE 100 /x %=A12| X[CH AD]| */

typedef enum {lparen, rparen, plus, minus, times, divide,
mod, eos, operand} precedence;

int stack[MAX_STACK_SIZE]; /x 8 HIZ «/

char expr[MAX_EXPR_SIZE]; /x && AEZ] %/

int eval(void)
{/* MEHXEZ T U=s &
LIEFHCH. stackdt top2
S A AlYH S BHESHCH T

precedence token;

FE
N
i)
D

X
e
ol ﬂ||0
e
pa
rol
O
=+
-

char symbol;
int op1,0p2;
intn=0; /A AEZZS &t IIS2H */
int top = -1,

token = get_token(&symbol, &n);



while (token = eos) {
if (token == operand)
add(&top, symbol—'0"); / *AEH &R %/
else {

[* & LIALIE ALHCHH AetsS ==,
A EH

op2 = delete(&top
opl1 = delete(&top
switch(token) {
case plus: add(&top, op1+op2);
case minus: add(&top, opl1-0p2);
case times: add(&top, op1*op?2);
case divide: add(&top, op1/op?2);
case mod: add(&top, op1%op?2);
}

);
);

}
token = get_token(&symbol, &n);

¥
return delete(&top); /* Z2 S Bt

}

tou

Fox/

break;
break;
break;
break;



precedence get_token (char *symbol, int * n)

{ /» Ot E28 FI&Ch. symbol2 22X HE0IH, token2 1
0 @HE gtoe g TEaE ), HEOZ BHEIEIC, +/

xsymbol = expr[ ( )++];

switch (xsymbol) 1
case '(' : return Iparen;
case ')' : return rparen;
case '+' :return plus;
case '—' :return minus;
case '/' : return divide;
case '* : return times;
case %' : return mod;
case NULL : return eos;

default : return operand;
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- QAE S AB( 20|, IS5s QES 2SI LIS 02 AE
IS EESPS|

— isp(in—stack precedence)® icp(incoming precedence) & 2|6t A
EHZ=0] HAALR} ispIdl 22 HAXS] icpE0F AL 2= [HeH AEH

A A

precedence stack[ MAX_STACK_SIZE];
/* isplt icp BHE —— QIE A= AKX} [paren, rparen,
plus, minus, times, divide, mod, eosl & =% gt */
static intisp[] = { 0,19, 12,12, 13, 13, 13, 0} ;
static int icp[] = {20, 19, 12, 12, 13, 13, 13, 0} ;

e

) isplplus] =isp[2] =12, LEZE &5 19, 2% 25 0, 20, eos= 0

=2 [, o(n)

A

Ju



void postfix(void)

{/» =42 T2 HIACZ &
*/
char symbol;
precedence token;
intn=0;
int top = 0; /* eosE A B
stack[0] = eos:

A
=

| S—

O

ol
QO
s

=L +/

[0



for (token=get_token(&symbol,&n); token!=eos;
token=get_token(&symbol,&n)) 1
if (token == operand) printf("%c", symbol);
else if (token == rparen) {
while (stack[top] != Iparen) /+ 2% 2SI} L= DKl +/
orint_token(delete(&top)); /* E2ES M HoHAl S A2 */
delete(&top); /* ASE HElCt »/
}
else {
//symbolQl ispIt tokenQl icp2CH AHU 22 ™ symbolE HIJot] =
while (isp[stack[top]] >= icp[token])
print_token(delete(&top));
add(&top, token);
h
} // end of for-loop
while ((token=delete(&top)) != eos)
print_token(token);
printf(“Wwn");
h



